Year 2 Division - Maths Day 4 		Division Reasoning		11.6.2020  
Try these reasoning questions and answer them the best you can. You may need to use resources or paper to work out your answers – do not expect to do all the work in your heads. Thank you.
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9a. Fred buys 4 tickets to the cinema at
£5 each. How much does he spend?

Show this as a number sentence and as a
division picture.
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9b. Andy buys 7 packets of cards. There
are 5 cards in each packet. How many
cards does he have?

Show this as a number sentence and as a
division picture.
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10a. True or false?

Twelve multiplied by five equals sixty-five.
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10b. True or false?

Five multiplied by eleven equals fifty-five.
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3a. Spot and comrect the mistake.
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20+5=5

3b. Spot and correct the mistake.

35:5=6
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4a. 50 stickers are shared equally
between 5 people.

Tthink they will get
10 stickers each
3

1think they will get
9 stickers each.

Who is correct? Explain why using a
ion picture to prove it.
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4b. 55 crayons are shared equally
between 5 people.

1think they will get
9 crayons each
Bob
1think they will get w
11 crayons each. >+

Anna

Who is correct? Explain why using a
ion picture to prove it.





image1.png
1a. Kyle has 6 sweets. He gives half of
them to Katie.
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We will get 3
sweets each.

Is Kyle correct? Explain why.
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1b. Arooj has 14 sweets. She gives half of
them to Max.

We will get 8
sweets each.

Is Arooj correct? Explain why.
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3a. Mum is fidying up and she finds 8
shoes.

How many pairs can she make?
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3b. Dad is tidying up and he finds 10
earrings.
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4a. Emma has 18 pieces of chocolate.

She gives half of them to Mike.

We will get 8
pieces each.

Is Emma correct? Explain why.
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4b. Lia has 22 pieces of chocolate. She
gives half of them to Joe.

Joe will get
11 pieces.

Is Lia correct? Explain why.
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6a. Dad is fidying up and he finds 16
socks.

How many pairs can he make?

He finds 6 more socks. Can he still make
pairs?
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6b. Sam is tidying up and she finds 24
socks.

How many pairs can she make?

She loses 8 socks. Can she sfill make
pairs?
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